1. 3(4x+57) =PL ), 6(8x+ 107) =2
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6(8x + 10m) = 6 - 2(4x + 5m) = 4 - 3(4x + 5m) = 4P
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2013 x 2011 = (k + 1)(k — 1)
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@ a-b+c @ c-a ® b+c

a® — b2c — ab® + a’c = a® — ab® + a’c - b*c
=a(a® - b*) + (a®> - b*)c
=(a-b)(a+b)(a+c)
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xt+2x%(px + q) + (px + q)?
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f(x) =x*-4x+3a+b,

g(x) = x* + bx - 6°]2}t 5t

f(x) 9 g(x) & BF x- 22 YrojHojz Bz
f(2) = g(2) =0°1A4
f(2)=4-8+3a+b=0,82)=44+2b-6=0
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A=aG, B=10G (a, b= A=)
A*OQAB = [Pl], A O B? =[]
. (A2OAB) % (A20O B?) = [[h)]
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@ a-> © b+c © a-c
®6 @ © ® 9,©
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ab(b - a) + ac(c —a) + bc(2a—b - c)

= ab? — a®b + ac® - a*c + 2abc — b*c — bc?
= —(b+c)a® + (b + 2bc + c?)a — be(b + ¢)
=—(b+c){a® - (b+c)a+ bc}
=—(b+c)(a=b)(a=c)
=(a=b)(b+c)(c-a)




